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Exercise

1. Which of the following ratios are in proportion? 12 :

21 and 32 : 56

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_37Xp4NsSfKZ0
https://dl.doubtnut.com/l/_LuRT5GbluhuU


2. Which of the following ratios are in proportion? 18 :

30 and 14 : 21

Watch Video Solution

3. Which of the following ratios are in proportion? 22

: 33 and 33 : 24

Watch Video Solution

4. Which of the following ratios are in proportion?

24:28 and 20:25

Watch Video Solution

https://dl.doubtnut.com/l/_LuRT5GbluhuU
https://dl.doubtnut.com/l/_Q9DvxV0BF3Ul
https://dl.doubtnut.com/l/_4j4GYGq3arwO


5. Which of the following sets of numbers are in

proportions: 2,6,6,8

Watch Video Solution

6. Which of the following sets of numbers are in

proportions: 10,20,30,60

Watch Video Solution

7. Which of the following sets of numbers are in

proportions: p,pq, ,p2q q2

https://dl.doubtnut.com/l/_4j4GYGq3arwO
https://dl.doubtnut.com/l/_eNd1acQexrje
https://dl.doubtnut.com/l/_mhIpFaZKvyvV
https://dl.doubtnut.com/l/_uEetPDwNoqcH


Watch Video Solution

8. Which of the following sets of numbers are in

proportions: 6 : 30 and 4 : 20

Watch Video Solution

9. Fill in the blanks : Area of circle, . If A

increases then r_______ . If r decreases A_____.

Watch Video Solution

A = πr2

https://dl.doubtnut.com/l/_uEetPDwNoqcH
https://dl.doubtnut.com/l/_YlthYtroMCcV
https://dl.doubtnut.com/l/_0iYoiRZQm35U


10. If  and when p=6 then q=30. Now if p=2, then

what is the value of q?

A. 12

B. 20

C. 10

D. 15

Answer:

Watch Video Solution

p ∝ q

https://dl.doubtnut.com/l/_WV6SoLl7BB6j


11. The value of y in the blank space of the following

table is 

A. 8

B. 6

C. 4

D. 2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_TdlhNUXO0gcu
https://dl.doubtnut.com/l/_pn2gPblhSK6v


12. What will be the unit digit of the square of the

following numbers? 

272

Watch Video Solution

13. What will be digits in the unit place of the squares

of the following numbers? 79

Watch Video Solution

14. What will be digits in the unit place of the squares

of the following numbers? 400

https://dl.doubtnut.com/l/_pn2gPblhSK6v
https://dl.doubtnut.com/l/_tCfCQF4NClBR
https://dl.doubtnut.com/l/_WjGTyQcfZ7R0


Watch Video Solution

15. What will be digits in the unit place of the squares

of the following numbers? 2637

Watch Video Solution

16. Why do the following numbers are not perfect

square? 1057

Watch Video Solution

https://dl.doubtnut.com/l/_WjGTyQcfZ7R0
https://dl.doubtnut.com/l/_vNxeuNyWz5BQ
https://dl.doubtnut.com/l/_zgVi0tyAF0lg


17. Why do the following numbers are not perfect

square? 7928

Watch Video Solution

18. Why do the following numbers are not perfect

square? 222

Watch Video Solution

19. Why do the following numbers are not perfect

square? 640

Watch Video Solution

https://dl.doubtnut.com/l/_s0EUyXijaiJo
https://dl.doubtnut.com/l/_ExIcjHoupvdU
https://dl.doubtnut.com/l/_o2aH63uDpF9w


20. What are the squares of the following numbers?

19

Watch Video Solution

21. What are the squares of the following numbers?

37

Watch Video Solution

22. What are the squares of the following numbers?

53

https://dl.doubtnut.com/l/_o2aH63uDpF9w
https://dl.doubtnut.com/l/_yHMN8cid1t8r
https://dl.doubtnut.com/l/_7qOkYSJWYSvK
https://dl.doubtnut.com/l/_eDajGx45v7Kw


Watch Video Solution

23. What are the squares of the following numbers?

78

Watch Video Solution

24. Find the square roots of the following numbers by

Prime factorisation method , 

1764

Watch Video Solution

https://dl.doubtnut.com/l/_eDajGx45v7Kw
https://dl.doubtnut.com/l/_UnEQQaoexw9a
https://dl.doubtnut.com/l/_GgHhyTl8Zexn


25. Find the square roots of the following numbers by

Prime factorisation method , 

9216

Watch Video Solution

26. Find the square roots of the following numbers by

Prime factorisation method , 

7744

Watch Video Solution

https://dl.doubtnut.com/l/_2yERiL9MKSeD
https://dl.doubtnut.com/l/_6tkGlf7Y0eRI


27. Find the square roots of the following by prime

factorisation method. 9801

Watch Video Solution

28. Find the least numbers (integer) with which the

following numbers are to be multiplied so that they

become perfect square. 1525

Watch Video Solution

29. Find the least numbers (integer) with which the

following numbers are to be multiplied so that they

https://dl.doubtnut.com/l/_pwqrHbHZHArJ
https://dl.doubtnut.com/l/_GegPkyDIz6hv
https://dl.doubtnut.com/l/_dmjN2a3egCbs


become perfect square. 1008

Watch Video Solution

30. Find the least numbers (integer) with which the

following numbers are to be multiplied so that they

become perfect square. 2028

Watch Video Solution

31. Find the least numbers (integer) with which the

following numbers are to be multiplied so that they

become perfect square. 768

Watch Video Solution

https://dl.doubtnut.com/l/_dmjN2a3egCbs
https://dl.doubtnut.com/l/_NR7ymukmG5oF
https://dl.doubtnut.com/l/_CCH2zJzORWxM


Watch Video Solution

32. With what least number (integer) the following

numbers are to be divided so that they become

perfect squares. 468

Watch Video Solution

33. With what least number (integer) the following

numbers are to be divided so that they become

perfect squares. 1584

Watch Video Solution

https://dl.doubtnut.com/l/_CCH2zJzORWxM
https://dl.doubtnut.com/l/_O2TSGUUHS3b3
https://dl.doubtnut.com/l/_lUyAOtBOwToo
https://dl.doubtnut.com/l/_SRkfb68ZknA5


34. With what least number (integer) the following

numbers are to be divided so that they become

perfect squares. 2645

Watch Video Solution

35. With what least number (integer) the following

numbers are to be divided so that they become

perfect squares. 1620

Watch Video Solution

36. In a military camp the major has to arrange 1764

soldiers in a square shape such that the number of

https://dl.doubtnut.com/l/_SRkfb68ZknA5
https://dl.doubtnut.com/l/_WmNNfKJye7CC
https://dl.doubtnut.com/l/_Qywl164MkXzF


solidiers along the length and breath are equal. How

many soldiers are there in each row?

Watch Video Solution

37. Find the smallest perfect square number which is

divisible by 4,9,and 10.

Watch Video Solution

38. Find the square root by division process: 2116

Watch Video Solution

https://dl.doubtnut.com/l/_Qywl164MkXzF
https://dl.doubtnut.com/l/_WWjZjb21HLqd
https://dl.doubtnut.com/l/_RU6XIhd7Gjr4
https://dl.doubtnut.com/l/_ybP9Z1kYjIpA


39. Find the square root by division process: 4761

Watch Video Solution

40. Find the square root by division process: 576

Watch Video Solution

41. Find the square root by division process: 6084

Watch Video Solution

https://dl.doubtnut.com/l/_ybP9Z1kYjIpA
https://dl.doubtnut.com/l/_fEfMZBH3Yb3O
https://dl.doubtnut.com/l/_SH1EPrZ3tVsi


42. Find the square root of the following decimal

numbers: 12.25

Watch Video Solution

43. Find the square root of the following decimal

numbers: 24.01

Watch Video Solution

44. Find the square root of the following decimal

numbers: 146.41

Watch Video Solution

https://dl.doubtnut.com/l/_tsMWVc6MZYC6
https://dl.doubtnut.com/l/_ZNck6aoEzNpt
https://dl.doubtnut.com/l/_h8OMuVM1NUj9


45. Find the square root of the following decimal

numbers: 102.01

Watch Video Solution

46. Which of the following is a square of an odd

natural number?

A. 256

B. 169

C. 546

D. 754

https://dl.doubtnut.com/l/_h8OMuVM1NUj9
https://dl.doubtnut.com/l/_BGDE1mNFDUq8
https://dl.doubtnut.com/l/_ClS5a8Eb7ipH


Answer:

Watch Video Solution

47. Which of the following will have 1 (one) in the unit

place?

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

192

342

182

202

https://dl.doubtnut.com/l/_ClS5a8Eb7ipH
https://dl.doubtnut.com/l/_ThlKBr2eo2WR


Watch Video Solution

48. Between  and  how many natural numbers

are there?

A. 38

B. 36

C. 42

D. 40

Answer:

Watch Video Solution

182 192

https://dl.doubtnut.com/l/_ThlKBr2eo2WR
https://dl.doubtnut.com/l/_oUAVbqKEPjck


49. Which of the following is not a perfect square?

A. 441

B. 572

C. 576

D. 729

Answer:

Watch Video Solution

50. If  then  is equal to√2025 = 45 √20.25

https://dl.doubtnut.com/l/_aWMJOL7hF0IM
https://dl.doubtnut.com/l/_rqkjCvbecTO9


A. 45

B. 4.5

C. 0.45

D. 0.045

Answer:

Watch Video Solution

51. Which of the following is not a perfect cube? 3757

Watch Video Solution

https://dl.doubtnut.com/l/_rqkjCvbecTO9
https://dl.doubtnut.com/l/_IKW3pXWyMMLf


52. Which of the following are perfect cubes? 

3375

Watch Video Solution

53. Which of the following is not a perfect cube? 3332

Watch Video Solution

54. Which of the following is not a perfect cube? 4096

Watch Video Solution

https://dl.doubtnut.com/l/_JNMcoUMTfDIY
https://dl.doubtnut.com/l/_uDUh1nXbwVCm
https://dl.doubtnut.com/l/_jzwJgEWlz7nQ
https://dl.doubtnut.com/l/_t74iP34YonHN


55. Find the cubes of the following numbers. 19

Watch Video Solution

56. Find the cubes of the following numbers. 21

Watch Video Solution

57. Find the cubes of the following numbers. 23

Watch Video Solution

58. Find the cubes of the following numbers. 27

https://dl.doubtnut.com/l/_t74iP34YonHN
https://dl.doubtnut.com/l/_QfmUCMbP5JeR
https://dl.doubtnut.com/l/_SW8CcQwncQts
https://dl.doubtnut.com/l/_bNgPEoPmreil


Watch Video Solution

59. Write the digit in the unit place of the cubes of

the following numbers. 14

Watch Video Solution

60. Write the digit in the unit place of the cubes of

the following numbers. 18

Watch Video Solution

https://dl.doubtnut.com/l/_bNgPEoPmreil
https://dl.doubtnut.com/l/_VImy04fx6EUi
https://dl.doubtnut.com/l/_9xVX9sDgahM4


61. Write the digit in the unit place of the cubes of the

following numbers. 13

Watch Video Solution

62. Write the digit in the unit place of the cubes of

the following numbers. 27

Watch Video Solution

63. Find the smallest integers with which the

following numbers are to be multiplied so that they

become perfect cubes. 5324

https://dl.doubtnut.com/l/_60n3SEYxWBzo
https://dl.doubtnut.com/l/_utHykG4hwdsP
https://dl.doubtnut.com/l/_i25LiPiNELH4


Watch Video Solution

64. Find the smallest integers with which the

following numbers are to be multiplied so that they

become perfect cubes. 3087

Watch Video Solution

65. Find the smallest integers with which the

following numbers are to be multiplied so that they

become perfect cubes. 3125

Watch Video Solution

https://dl.doubtnut.com/l/_i25LiPiNELH4
https://dl.doubtnut.com/l/_93Ut0p06g7OT
https://dl.doubtnut.com/l/_OXY3eNYH4dMQ


66. Find the smallest integers with which the

following numbers are to be multiplied so that they

become perfect cubes. 648

Watch Video Solution

67. Find the smallest numbers with which the

following numbers are to be divided so that they

become perfect cube. 10,368

Watch Video Solution

https://dl.doubtnut.com/l/_ngiyFtMTvJaG
https://dl.doubtnut.com/l/_TK46Er5fRHv0


68. Find the smallest numbers with which the

following numbers are to be divided so that they

become perfect cube. 2187

Watch Video Solution

69. Find the smallest numbers with which the

following numbers are to be divided so that they

become perfect cube. 5000

Watch Video Solution

https://dl.doubtnut.com/l/_h1y9IwXDP2zC
https://dl.doubtnut.com/l/_zNBeudPntneZ


70. Find the smallest numbers with which the

following numbers are to be divided so that they

become perfect cube. 8192

Watch Video Solution

71. Find the cube roots of the following numbers. 1331

Watch Video Solution

72. Find the cube roots of the following numbers.1728

Watch Video Solution

https://dl.doubtnut.com/l/_26TybImqyc4G
https://dl.doubtnut.com/l/_Alc4FDX0uRpK
https://dl.doubtnut.com/l/_XmeK6AgWnWyj


73. Find the cube roots of the following numbers.

2197

Watch Video Solution

74. Find the cube roots of the following numbers.

2744

Watch Video Solution

75. Find the cube roots of the following by

factorisation. 3375

Watch Video Solution

https://dl.doubtnut.com/l/_D1inyDvv9TXE
https://dl.doubtnut.com/l/_mA7sHMKgTsOq
https://dl.doubtnut.com/l/_23VKwFtqw6Q7


76. Find the cube roots of the following by

factorisation. 4913

Watch Video Solution

77. Find the cube roots of the following by

factorisation. 9261

Watch Video Solution

78. Find the cube root of each of the following

numbers by prime factorisation method. 

https://dl.doubtnut.com/l/_23VKwFtqw6Q7
https://dl.doubtnut.com/l/_0ChJ2j71Lv7F
https://dl.doubtnut.com/l/_eaPO8PYYSvxL
https://dl.doubtnut.com/l/_G6kQP6WtdwBT


13824

Watch Video Solution

79. Find the cube roots of the following without

factorisation. 12167

Watch Video Solution

80. Find the cube roots of the following without

factorisation. 8000

Watch Video Solution

https://dl.doubtnut.com/l/_G6kQP6WtdwBT
https://dl.doubtnut.com/l/_NBsUnrmN1PyG
https://dl.doubtnut.com/l/_7cMoa6JndOn5
https://dl.doubtnut.com/l/_CO2fjOycEL2o


81. Find the cube roots of the following without

factorisation. 4096

Watch Video Solution

82. Find the cube roots of the following without

factorisation. 5832

Watch Video Solution

83. The length of the edge of a cube is 1.2 cm. Find its

volume.

Watch Video Solution

https://dl.doubtnut.com/l/_CO2fjOycEL2o
https://dl.doubtnut.com/l/_zMNjX2YS6zT2
https://dl.doubtnut.com/l/_KAbUXtBvkBNH


84. The value of a cube shaped box is . Find

its volume.

Watch Video Solution

6859cm3

85. The digit in the unit place in the cube of 23 is

A. 6

B. 7

C. 8

D. 9

https://dl.doubtnut.com/l/_KAbUXtBvkBNH
https://dl.doubtnut.com/l/_agzs2dTq4TxO
https://dl.doubtnut.com/l/_JlhC3L4sk0v8


Answer:

Watch Video Solution

86. Which of the following is a perfect cube?

A. 652

B. 933

C. 343

D. 1002

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JlhC3L4sk0v8
https://dl.doubtnut.com/l/_tSMBB33l7IqH


87. The value of is  is

A. 30

B. 100

C. 10

D. 1000

Answer:

Watch Video Solution

3√1000

88. If m is the cube root of n then the value of n is

https://dl.doubtnut.com/l/_tSMBB33l7IqH
https://dl.doubtnut.com/l/_BlVuUFccJbPZ
https://dl.doubtnut.com/l/_GMxEMNp05Oos


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√m

3√m

m3

m2

89. The value of  is

A. 6

B. 7

3√8 + 3√27 + 3√64

https://dl.doubtnut.com/l/_GMxEMNp05Oos
https://dl.doubtnut.com/l/_awvTSPPc8BYA


C. 8

D. 9

Answer:

Watch Video Solution

90. Find of the value of : 

Watch Video Solution

113

91. Find of the value of : 

Watch Video Solution

2 × 103

https://dl.doubtnut.com/l/_awvTSPPc8BYA
https://dl.doubtnut.com/l/_Tz5nPufV8RYE
https://dl.doubtnut.com/l/_7GO0oAUUluaa


92. Find of the value of : 

Watch Video Solution

( )
− 5

1
2

93. Find the value of : 

Watch Video Solution

( − 4)
− 2

94. Express the following numbers in terms of power

of their prime factors. 729

Watch Video Solution

https://dl.doubtnut.com/l/_7GO0oAUUluaa
https://dl.doubtnut.com/l/_NGgoWxPpc8kl
https://dl.doubtnut.com/l/_3jdUuH6B6A8q
https://dl.doubtnut.com/l/_UOoGJLNVnRSg


95. Express the following numbers in terms of power

of their prime factors. 3125

Watch Video Solution

96. Express the following numbers in terms of power

of their prime factors. 3600

Watch Video Solution

97. Express the following numbers in terms of power

of their prime factors. 

Watch Video Solution

108 × 192

https://dl.doubtnut.com/l/_v0tuGz7dWvLj
https://dl.doubtnut.com/l/_CiZ9QJ7Wcqqi
https://dl.doubtnut.com/l/_eD2LSPbiHNuL


98. Simplify: 

Watch Video Solution

( − 3)2 × ( − 5)2

99. Simplify: 

Watch Video Solution

(23 × 24)

100. Simplify: 

Watch Video Solution

20 × 30 × 40

https://dl.doubtnut.com/l/_eD2LSPbiHNuL
https://dl.doubtnut.com/l/_TVi6uwqukwGA
https://dl.doubtnut.com/l/_RCoNck18gMtk
https://dl.doubtnut.com/l/_dQOv7f0POYNz
https://dl.doubtnut.com/l/_BBUP0Lk9B2B4


101. Simplify: 

Watch Video Solution

( )
− 7

× ( )
− 45

8

8

5

102. Compare the following numbers: 

Watch Video Solution

28, 82

103. Compare the following numbers:

Watch Video Solution

2.7 × 1012, 1.5 × 108

https://dl.doubtnut.com/l/_BBUP0Lk9B2B4
https://dl.doubtnut.com/l/_fbWb0hBgeQQa
https://dl.doubtnut.com/l/_HhfmSjtr9oev


104. Express the following with the help of positive

power. 

Watch Video Solution

2− 3 × ( − 7) − 3

105. Express the following with the help of positive

power. 

Watch Video Solution

( − 3) − 4 × ( − 7) − 3

106. Express the following numbers in standard form.

3430,000

Watch Video Solution

https://dl.doubtnut.com/l/_EH4rBLxfuUZp
https://dl.doubtnut.com/l/_6Nv9j63Khfm3
https://dl.doubtnut.com/l/_PQ1ITJx4DB75


107. Express the following numbers in standard

form.70,040,000,000

Watch Video Solution

108. Express the following numbers in standard form.

0.00000015

Watch Video Solution

109. Express the following numbers in standard form.

0.00001436

https://dl.doubtnut.com/l/_PQ1ITJx4DB75
https://dl.doubtnut.com/l/_TfuNMKEa7vTa
https://dl.doubtnut.com/l/_moBOmQwzBaoY
https://dl.doubtnut.com/l/_CfTB8hZW7eAx


Watch Video Solution

110. Express the following in general form.

Watch Video Solution

1.0001 × 109

111. Express the following in general form.

Watch Video Solution

3.02 × 10− 6

https://dl.doubtnut.com/l/_CfTB8hZW7eAx
https://dl.doubtnut.com/l/_VjNXkUntl7IB
https://dl.doubtnut.com/l/_pAgTYjG6GeV6


112. Find the value of m such that

.

Watch Video Solution

( − 3)m+ 1 × ( − 3)5 = ( − 3)7

113. The size (diameter) of a plant cell is 0.00001275m.

Express it in standard form.

Watch Video Solution

114. In a stack there are 5 books each of thickness 20

mm and 5 paper sheets each of thickness 0.016 mm.

What is the total thickness of the stack?

https://dl.doubtnut.com/l/_8I3IsyfDIadH
https://dl.doubtnut.com/l/_SWP3jbReEIvv
https://dl.doubtnut.com/l/_mDltm7EPqVZc


Watch Video Solution

115. The value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3− 3

33

3
1
3

1

33

3 × 3

https://dl.doubtnut.com/l/_mDltm7EPqVZc
https://dl.doubtnut.com/l/_2jiUxld1TUBl


116. The value of  is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
2

2

3

1

(2 × 3)
2

(2 × 3)
− 2

( )
− 23

2

( )
3

2

1
2

117. The value of  is:( − )
42

3

https://dl.doubtnut.com/l/_80sBoRE3oGrG
https://dl.doubtnut.com/l/_K8BLcviCV9Rq


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

8

12

16

81

−
16

81

−
8

12

118. The standard form of 0.000064 is:

A. 

B. 

64 × 104

64 × 10− 4

https://dl.doubtnut.com/l/_K8BLcviCV9Rq
https://dl.doubtnut.com/l/_q8tRQX0Ob1Z1


C. 

D. 

Answer:

Watch Video Solution

6.4 × 105

6.4 × 10− 5

119. Find common factors of the following:

Watch Video Solution

14pq, 28p2q2

https://dl.doubtnut.com/l/_q8tRQX0Ob1Z1
https://dl.doubtnut.com/l/_gx0S4rWYlWVG


120. Find the common factors of the given terms. 

Watch Video Solution

16x3, − 4x2, 32x

121. Find common factors of the following:

20pq,30pr,40rp

Watch Video Solution

122. Find the common factors of the given terms. 

Watch Video Solution

3x2y3, 10x3y2, 6x2y2z

https://dl.doubtnut.com/l/_7PpoYMkiymHJ
https://dl.doubtnut.com/l/_T7GlTqJ0wxbx
https://dl.doubtnut.com/l/_ZMevYUvOpOVf


123. Factorise: 

Watch Video Solution

4a2 + 8a3

124. Factorise:

Watch Video Solution

7x2y − 21xy2

125. Factorise: 

Watch Video Solution

a2bc + ab2c + abc2

https://dl.doubtnut.com/l/_ZMevYUvOpOVf
https://dl.doubtnut.com/l/_7ZXfHD65pWr9
https://dl.doubtnut.com/l/_1BfavtX2KvNd
https://dl.doubtnut.com/l/_bvCfH0GKaqaP
https://dl.doubtnut.com/l/_0l8njq2giCiC


126. Factorise: 

Watch Video Solution

a3 − a2b2

127. Factorise: 

Watch Video Solution

x2 + xy + 6x + 6y

128. Factorise: 

Watch Video Solution

xy + x + y + 1

129. Factorise: 24x2y + 12x2 − 12xy − 6x

https://dl.doubtnut.com/l/_0l8njq2giCiC
https://dl.doubtnut.com/l/_XxBlDIoj17Si
https://dl.doubtnut.com/l/_IWv8vOO04iSi
https://dl.doubtnut.com/l/_9lHRp2VBdYW9


Watch Video Solution

130. Factorise 

Watch Video Solution

z − 7 + 7xy − xyz

131. Express in factors : 

Watch Video Solution

4x2 + 12x + 9

132. Factorise the following expressions. 

25m2 + 30m + 9

https://dl.doubtnut.com/l/_9lHRp2VBdYW9
https://dl.doubtnut.com/l/_N5xLKW2wLOQE
https://dl.doubtnut.com/l/_bPbt2qOqY7G4
https://dl.doubtnut.com/l/_6zoJLZhCF0Ka


Watch Video Solution

133. Express in factors : 

Watch Video Solution

x2 − 10x + 25

134. Express in factors : 

Watch Video Solution

121b2 + 88bc + 16c2

135. Express in factors : 

Watch Video Solution

9p2 − 16q2

https://dl.doubtnut.com/l/_6zoJLZhCF0Ka
https://dl.doubtnut.com/l/_RZnT0hq0f4Q3
https://dl.doubtnut.com/l/_i42UmshbrNKz
https://dl.doubtnut.com/l/_UswKwA488uch


136. Express in factors : 

Watch Video Solution

(1 + m)2 − (1 − m)2

137. Express in factors : 

Watch Video Solution

x2 − 13x + 30

138. Express in factors : 

Watch Video Solution

y2 − 5y − 36

https://dl.doubtnut.com/l/_rni7Js9Ug05B
https://dl.doubtnut.com/l/_WshgyJut8vm8
https://dl.doubtnut.com/l/_LPEoiLorrkx0


139. Express in factors : 

Watch Video Solution

4y2 + 25y + 21

140. Express in factors : 

Watch Video Solution

3x6 − 6x2y − 45x2y2

141. Divide the given polynomial by the given

monomial. 

Watch Video Solution

(3y8 − 4y6 + 5y4) ÷ y4

https://dl.doubtnut.com/l/_vIECKiCO5W4E
https://dl.doubtnut.com/l/_MOIm6NIk4ttY
https://dl.doubtnut.com/l/_YTYzYi2Mb2Z0


142. Divide the given polynomial by the given

monomial. 

Watch Video Solution

(p3q6 − p6q3) ÷ p3q3

143. Find division: 

Watch Video Solution

(10x − 25) ÷ (2x − 5)

144. Find division:

Watch Video Solution

20(y + 4)(y2 + 5y + 3) ÷ 5(y + 4)

https://dl.doubtnut.com/l/_TqmVVMLQXUxL
https://dl.doubtnut.com/l/_NofvuuLETQPr
https://dl.doubtnut.com/l/_TDFs0ravhsn6


145. Divide using factorisation:

Watch Video Solution

(4u2 + 25u − 21) ÷ (u + 7)

146. Divide using factorisation:

Watch Video Solution

(m2 − 14m − 32) ÷ (m + 2)

147. The length and breadth of a rectangle are 12 cm

and 4 cm. respectively. Find the perimeter and area of

https://dl.doubtnut.com/l/_TDFs0ravhsn6
https://dl.doubtnut.com/l/_UOuzaPd0BWId
https://dl.doubtnut.com/l/_a00LnWQgIaVJ
https://dl.doubtnut.com/l/_Mh4wBRJ9QBHq


the rectangle.

Watch Video Solution

148. The breadth of a rectangle is 5 cm. and its length

is 3 times of the breadth. What is the perimeter of the

rectangle?

Watch Video Solution

149. Find the area of a square of length 7 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_Mh4wBRJ9QBHq
https://dl.doubtnut.com/l/_fQlqDrD0FEom
https://dl.doubtnut.com/l/_fUrG7GLtFjkT
https://dl.doubtnut.com/l/_xTUMOHZmkHvZ


150. Length of one side of the parallelogram is 6 cm. If

the height of the parallelogram with respect to this

side is 3 cm., then find its area.

Watch Video Solution

151. The length of one diagonal of a parallelogram is 8

cm. and height of each of the triangles whose

common base is the given diagonal of the

parallelogram is 4 cm. Find the area of the

parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_xTUMOHZmkHvZ
https://dl.doubtnut.com/l/_AUU2WtqkaObn
https://dl.doubtnut.com/l/_XJ08BxjgtLF0


152. The length of the diagonals of a plot of land in

the form of a rhombus are 125 m. and 85 m.

respectively. Find the area of the plot of land.

Watch Video Solution

153. The length of the diagonals of a rhombus are 24

m. and 10 m. Then find perimeter of the rhombus

Watch Video Solution

154. The length of the diagonals of a rhombus are 24

m. and 10 m. Then find area of the rhombus.

W t h Vid S l ti

https://dl.doubtnut.com/l/_XJ08BxjgtLF0
https://dl.doubtnut.com/l/_DKpKIMCDR15m
https://dl.doubtnut.com/l/_liov4l2Efw8e


Watch Video Solution

155. The breadth of a rectangle is 5 cm. and its area is

. Find the length of the rectangle.

Watch Video Solution

100m2

156. The base of a parallelogram is 9 cm. and the area

is . Find the height of the parallelogram.

Watch Video Solution

54cm2

https://dl.doubtnut.com/l/_liov4l2Efw8e
https://dl.doubtnut.com/l/_OHrU6WLUNXUO
https://dl.doubtnut.com/l/_fOPM2dDu0bWE


157. Area of a rectangle is equal to the area of a

square of length 12 decametre. If the length of the

rectangle is 24 decametre then find its breadth.

Watch Video Solution

158. The length of a rectangle is three times of its

breadth. If the area of the rectangle is  then

find its perimeter.

Watch Video Solution

432cm2

https://dl.doubtnut.com/l/_mxhQJ1lFL5gW
https://dl.doubtnut.com/l/_rVhh6uEKiSEY


159. The length of one diagonal of a parallelogram is

86 m. and length of the perpendicular drawn from any

one of the remaining vertices to the diagonal is 36 m.

Find the area of the parallelogram.

Watch Video Solution

160. If the length of the diagonals of a rhombusare 10

cm and 24 cm. then find the length of its sides.

Watch Video Solution

https://dl.doubtnut.com/l/_T1DsKWK83eLH
https://dl.doubtnut.com/l/_ad1VFR3t9oW5


161. The measures of the parallel sides of a trapezium

are 6m and 4m.and the perpendicular distance

between them is 7 m. Find the area of the trapezium.

Watch Video Solution

162. Area of a trapezium is  and sum of the

lengths of its parallel sides is three times the height.

Find the height.

Watch Video Solution

1350m2

163. Radius of a wheel is 28cm, what is its perimeter.

https://dl.doubtnut.com/l/_Sd5tl6YAZGlj
https://dl.doubtnut.com/l/_k5SwCQtWEtxn
https://dl.doubtnut.com/l/_7cT6wXmDPt0s


Watch Video Solution

164. Find the area of a circle of radius 35 cm.

Watch Video Solution

165. Find the radius of circle whose area is equal to

the sum of the areas of four other circles of radii

5m,6m,8m and 10m.

Watch Video Solution

https://dl.doubtnut.com/l/_7cT6wXmDPt0s
https://dl.doubtnut.com/l/_niosSu7tSVF4
https://dl.doubtnut.com/l/_soCZ5lFbJAjq


166. There is a path of width 3.5 m around the circular

field of diameter 70m. Find the area of the whole

path.

Watch Video Solution

167. The length breadth and height of two cuboids are

30 cm., 25 cm., 15cm. and 35cm., 20cm., 12cm. Compare

their surface area. Which will have more volume?

Watch Video Solution

https://dl.doubtnut.com/l/_jyH95l8YfXgT
https://dl.doubtnut.com/l/_JzTovNrCufSS


168. Find the length of the canvus cloth of width 110

cm, required to make 25 numbers of covers of

suitcases having size .

Watch Video Solution

60cm × 40cm × 20cm

169. Find the length of the edge of a cube whose

surface area is .

Watch Video Solution

600m2

170. How many metal sheets of size  will be

required tp form a cylinder of height 14m. and radius

1m × 1m

https://dl.doubtnut.com/l/_f73MofEKEjkf
https://dl.doubtnut.com/l/_Ng9zrEVxb4pN
https://dl.doubtnut.com/l/_NXsAZYNDsNAD


of the base 2 m?

Watch Video Solution

171. Wrapping a paper of breath 14cm. a cylinder of

radius 20cm. is formed. Find the volume of the

cylinder.

Watch Video Solution

172. Diameter of a cylinder A is 7 cm. and height is 14

cm. Diameter of another cylinder B is 14 cm. and

height is 7 cm. Which have more volume, A and B?

Watch Video Solution

https://dl.doubtnut.com/l/_NXsAZYNDsNAD
https://dl.doubtnut.com/l/_LDwHvkiWkEpP
https://dl.doubtnut.com/l/_z3JIaEHHLlEP


Watch Video Solution

173. Find the height of the cylinder whose volume is

 and diameter of the base is 140 cm?

Watch Video Solution

1.54m3

174. Find the surface area of a cylinder whose- Radius

of the base is 7m and height 10m.

Watch Video Solution

https://dl.doubtnut.com/l/_z3JIaEHHLlEP
https://dl.doubtnut.com/l/_HgeDBJQOFaEv
https://dl.doubtnut.com/l/_MabsFbTC36Wl


175. Find the surface area of a cylinder whose- Radius

of the base is 4m and height 5.6m.

Watch Video Solution

176. Find the surface area of a cylinder whose-

Perimeter of the base 85m and height 12m.

Watch Video Solution

177. The radius of a cylinder is 14cm and height is 20

cm. then- Find curved surface area.

Watch Video Solution

https://dl.doubtnut.com/l/_l4mSmH1AeVUW
https://dl.doubtnut.com/l/_in0FunBDJef7
https://dl.doubtnut.com/l/_oUfBbBmlAthm


178. The radius of a cylinder is 14cm and height is 20

cm. then- Find total surface area.

Watch Video Solution

179. The radius of a cylinder is 14cm and height is 20

cm. then- Find the volume.

Watch Video Solution

180. Find the height of a cylinder if- area of the base

 and volume is 360m2 2880m3

https://dl.doubtnut.com/l/_oUfBbBmlAthm
https://dl.doubtnut.com/l/_5XPcaPrlHxWB
https://dl.doubtnut.com/l/_WsOCkF2cyuID
https://dl.doubtnut.com/l/_P51L1wa4Ki1I


Watch Video Solution

181. Find the height of a cylinder if- Permeter of the

base is 160 m and the curved surface area is 

Watch Video Solution

1440m2

182. Himadri has a collection of 625 Indian postal

stamps and 325 International postal stamps She

wants to display them in identical groups of Indian

and International stamps with no stamps left out.

What is the greatest number of groups Himadri can

display the stamps?

https://dl.doubtnut.com/l/_P51L1wa4Ki1I
https://dl.doubtnut.com/l/_VH7uXV5rMwFy
https://dl.doubtnut.com/l/_YZaj65KEI3Z9


Watch Video Solution

183. Two ropes are of length 64 cm and 80 cm. Both

are to be cut into pieces of equal length. What should

be the maximum length of the pieces?

Watch Video Solution

184. The soldiers in a regiment can be stood in some

rows consisting of 15, 20 or 25 number of soldiers.

Find the least number of soldiers in the regiment.

Watch Video Solution

https://dl.doubtnut.com/l/_YZaj65KEI3Z9
https://dl.doubtnut.com/l/_VULDQhzPI0dS
https://dl.doubtnut.com/l/_nIt4889K9lHw
https://dl.doubtnut.com/l/_bvNlcONci7Xs


185. A bell rings at every 18 seconds, another bell rings

at every 60 seconds. If these two bells ring

simulatanously an instant, then find after how many

seconds will the bells ring simulatanously again

Watch Video Solution

186. A radio station plays 'Assam Sangeet' once every

two days. Another radio station plays the same song

once every three days. How many times in 30 days will

both the radio stations play the same song on the

same day.

Watch Video Solution

https://dl.doubtnut.com/l/_bvNlcONci7Xs
https://dl.doubtnut.com/l/_Fj6PesqiTVln


187. Find the quadratic polynomials whose zeros are

Watch Video Solution

−4 and
3

2

188. Find the quadratic polynomials whose zeros are

Watch Video Solution

5 and 2

189. Find the quadratic polynomials whose zeros are

and − 1
1

3

https://dl.doubtnut.com/l/_Fj6PesqiTVln
https://dl.doubtnut.com/l/_DbkFPkUGRFiW
https://dl.doubtnut.com/l/_TiFVfwTCYW0f
https://dl.doubtnut.com/l/_pVLrmTuKIMxF


Watch Video Solution

190. Find the quadratic polynomials whose zeros are

Watch Video Solution

and − 2
3

2

191. Divide  by 

Watch Video Solution

P (x) = 2x4 + 3x3 − 2x2 − 9x − 12

g(x) = x2 − 3

192. Divide  by P (x) = x6 + 3x2 + 10 g(x) = x3 + 1

https://dl.doubtnut.com/l/_pVLrmTuKIMxF
https://dl.doubtnut.com/l/_b1cDxpdsQElx
https://dl.doubtnut.com/l/_QcT27FeC5wPH
https://dl.doubtnut.com/l/_kZqYqob2EAwQ


Watch Video Solution

193. Divide

 by 

Watch Video Solution

P (x) = 2x5 − 5x4 + 7x3 + 4x2 − 10x + 11

g(x) = x3 + 2

194. If one zero of the polynomial 

is 1, then find all the other zeros.

Watch Video Solution

3x3 − x2 − 3x + 1

https://dl.doubtnut.com/l/_kZqYqob2EAwQ
https://dl.doubtnut.com/l/_Uh0fn5ONF3tt
https://dl.doubtnut.com/l/_uEIS5sjZKaNb


195. If two zero of the polynomial

 are  and  then find

all the other zero.

Watch Video Solution

x4 + x3 − 9x2 − 3x + 8 √3 −√3

196. If two zero of the polynomial

 are  and ,

then find all the other zeros.

Watch Video Solution

x4 + 2x3 − 26x2 − 54x − 27 3√3 −3√3

https://dl.doubtnut.com/l/_DC5CaztSEKbN
https://dl.doubtnut.com/l/_10bKd6aIPsv1


197. On dividing the polynomial

 by another polynomial

3x+7 the remainder is found as -15. Find the quotient.

Watch Video Solution

6x4 + 11x3 − 7x2 − 15x − 50

198. On dividing a polynomial by , the quotient

is found as  and the remainder as -x+14.

Find the polynomial.

Watch Video Solution

x2 − 2

2x2 + 5x − 2

199. Solve  and − = 2
3y

2

5x

3
+ =

y

3
x

3

13

16

https://dl.doubtnut.com/l/_4ZouOVsnJabI
https://dl.doubtnut.com/l/_MnUDhVR1MqgY
https://dl.doubtnut.com/l/_tz0QgPyVHJhy


Watch Video Solution

200. Solve  and 

Watch Video Solution

− = 1
8

x

9

y
+ = 7

10

x

6

y

201. Solve :  


Watch Video Solution

2x + 3y = 6

4x + 6y = 12

202. Solve 
x − 2y = 6

3x − 6y = 0

https://dl.doubtnut.com/l/_tz0QgPyVHJhy
https://dl.doubtnut.com/l/_shavfc24Bglc
https://dl.doubtnut.com/l/_XJVEGC1RKWRZ
https://dl.doubtnut.com/l/_I3AeWaYh96gF


Watch Video Solution

203. Solve 


Watch Video Solution

− = − 5
3a

x

2b

y

+ = 2
a

x

3b

y

204. Solve  


Watch Video Solution

2x + y − 15 = 0

3x − y − 5 = 0

https://dl.doubtnut.com/l/_I3AeWaYh96gF
https://dl.doubtnut.com/l/_eqaOHF6uBX8h
https://dl.doubtnut.com/l/_ExAJJxc6h1UR


205. For what value of p the system equations, px-y=2,

6x-2y=3 has only one solution?

Watch Video Solution

206. Find the value of k that the following system of

linear equation has no solution

.

Watch Video Solution

(3k + 1)x + 3y − 2 = 0, (k2 + 1)x + (k − 2)y − 5 = 0

https://dl.doubtnut.com/l/_oSDTtGVRJw9f
https://dl.doubtnut.com/l/_DTph9hxBr8dc


207. Find the value of m such that the following

system of linear equations has infinite number of

solutions. mx+4y=m-4, 16x+my=m.

Watch Video Solution

208. Find the roots of the following quadratic

equations by factorisation: .

Watch Video Solution

2x2 − 7x + 6 = 0

209. Find the roots of the following quadratic

equations by factorisation: x2 − 10x − 96 = 0

https://dl.doubtnut.com/l/_24IMMnBUQitq
https://dl.doubtnut.com/l/_tCXykH6XJbUB
https://dl.doubtnut.com/l/_fhfVeupU2ge1


Watch Video Solution

210. Find the roots of the following quadratic

equations by factorisation: 

Watch Video Solution

√3x2 + 10x + 7√3 = 0

211. Find the roots of the following quadratic

equations by factorisation: 

Watch Video Solution

x2 + 2√2x + 2 = 0

https://dl.doubtnut.com/l/_fhfVeupU2ge1
https://dl.doubtnut.com/l/_qu4nZJQWJpgH
https://dl.doubtnut.com/l/_MaI62QeydWaS


212. Find the roots of the following quadratic

equations by factorisation: 

Watch Video Solution

14x + 5 − 3x2 = 0

213. Find the roots of the following quadratic

equations, if they exist, by the method of completing

the square: 

Watch Video Solution

x2 + 4x + 1 = 0

214. Find the roots of the following quadratic

equations, if they exist, by the method of completing

https://dl.doubtnut.com/l/_V7lRDzilIwgw
https://dl.doubtnut.com/l/_k5Dm83lwLZYw
https://dl.doubtnut.com/l/_LvQfnVdmUZse


the square: 

Watch Video Solution

4x2 + x − 3 = 0

215. Find the roots of the following equations:

Watch Video Solution

x2 − x − 1 = 0
2

3

1

3

216. Find the roots of the following equations:

Watch Video Solution

2x2 + = 2x
1

2

https://dl.doubtnut.com/l/_LvQfnVdmUZse
https://dl.doubtnut.com/l/_uOhy2mxlAMp3
https://dl.doubtnut.com/l/_XG9dZYbmbFxO
https://dl.doubtnut.com/l/_UoAJNuk2wkKm


217. Find the roots of the following equations:

Watch Video Solution

x + = 2
1

x

218. Find the roots of the following equations:

Watch Video Solution

=
5x − 6

4x − 1

2x + 3

3x + 2

219. Find the nature of the roots of the following

quadratic equations. If the real roots exist find them.

h id l i

9x2 − 6x + 1 = 0

https://dl.doubtnut.com/l/_UoAJNuk2wkKm
https://dl.doubtnut.com/l/_eZvgi8wNz3zr
https://dl.doubtnut.com/l/_BcZqBMXvgWFd


Watch Video Solution

220. Find the nature of the roots of the following

quadratic equations. If the real roots exist find them.

Watch Video Solution

3x2 − 5x + 12 = 0

221. Find the nature of the roots of the following

quadratic equations. If the real roots exist find them.

Watch Video Solution

x2 + x + 1 = 0

https://dl.doubtnut.com/l/_BcZqBMXvgWFd
https://dl.doubtnut.com/l/_3M7ZSb5Io1x4
https://dl.doubtnut.com/l/_4ewCTL8ChsfL
https://dl.doubtnut.com/l/_cFcUhSag0ux6


222. Find the nature of the roots of the following

quadratic equations. If the real roots exist find them.

Watch Video Solution

x2 − 2√3x − 9 = 0

223. Find the values of k for each of the following

quadratic equations, so that they have two equal

roots. 

Watch Video Solution

x2 − (k + 4)x + 2k + 5 = 0

https://dl.doubtnut.com/l/_cFcUhSag0ux6
https://dl.doubtnut.com/l/_fGik2QizKice


224. Find the values of k for each of the following

quadratic equations, so that they have two equal

roots. 

Watch Video Solution

2x2 + 8x − k3 = 0

225. Find the values of k for each of the following

quadratic equations, so that they have two equal

roots. 

Watch Video Solution

(k − 3)x2 + 6x + 9 = 0

https://dl.doubtnut.com/l/_U6eHOqnTKwFw
https://dl.doubtnut.com/l/_2KcMSBqXYwrk


226. Find the values of k for each of the following

quadratic equations, so that they have two equal

roots. 

Watch Video Solution

(k − 12)x2 + 2(k − 12)x + 2 = 0

227. Evaluate the following:(iv)

Watch Video Solution

sin 30∘ + tan 45∘ − cos ec60∘

sec 30∘ + cos 60∘ + cot 45∘

228. Evaluate the following:

cos ec30∘ + cos ec60∘ + cos ec90∘

sec 0∘ + sec 30∘ + sec 60∘

https://dl.doubtnut.com/l/_WWAmur4BPQ2N
https://dl.doubtnut.com/l/_d9wa2mNAKVwi
https://dl.doubtnut.com/l/_odSPLIUhkSsM


Watch Video Solution

229. If ,  and x>y,

 then find x and y.

Watch Video Solution

sin(x + y) = 1 cos(x − y) =
√3

2

0∘ ≤ x + y ≤ 90∘

230. Find the value : 

Watch Video Solution

sin 35∘ sin 55∘ − cos 35∘ cos 55∘

231. Find the value : 

W t h Vid S l ti

tan 35∘ tan 60∘ tan 55∘ tan 30∘

https://dl.doubtnut.com/l/_odSPLIUhkSsM
https://dl.doubtnut.com/l/_LGwaQEDR0ket
https://dl.doubtnut.com/l/_4m80WgjGZEfC
https://dl.doubtnut.com/l/_BDKOdHdtOXzi


Watch Video Solution

232. Find the value : 

Watch Video Solution

+ − 2
cot 54∘

tan 36∘

tan 20∘

cot 70∘

233. Find the value : 

Watch Video Solution

3 + 4
sin 23∘

cos 67∘

sec 47∘

cos ec43∘

234. Find the value :

Watch Video Solution

tan 5∘ tan 25∘ tan 30∘ tan 65∘ tan 85∘

https://dl.doubtnut.com/l/_BDKOdHdtOXzi
https://dl.doubtnut.com/l/_aHgFbLDVQStq
https://dl.doubtnut.com/l/_IAaTZQVkoe3D
https://dl.doubtnut.com/l/_15QhvGRaOMsw


235. If  where  is an acute

angle, then find the value of .

Watch Video Solution

sec 5θ = cos ec(θ − 36∘ ) θ

θ

236. If . Find the value of A.

Watch Video Solution

sin A = cos 33∘ , A < 90∘

237. If  where , find

the value of A.

Watch Video Solution

sin 2A = cos(A + 15∘ ) 2A < 90∘

https://dl.doubtnut.com/l/_15QhvGRaOMsw
https://dl.doubtnut.com/l/_fWSI6F7NBTdZ
https://dl.doubtnut.com/l/_ET3XL3Vrowkf
https://dl.doubtnut.com/l/_lFwYBKvxvZqo


238. If sin(3x+10)=cos(x+24) then find the value of x.

Watch Video Solution

239. Prove that 

Watch Video Solution

tan4 θ + tan2 θ = sec4 θ − tan2 θ − 1

240. Prove the following

Watch Video Solution

+ = sin θ + cos θ
cos θ

1 − tan θ

sin θ

1 − cot θ

https://dl.doubtnut.com/l/_lFwYBKvxvZqo
https://dl.doubtnut.com/l/_OV79JB8XzXg1
https://dl.doubtnut.com/l/_pOPcDTMFnFAV
https://dl.doubtnut.com/l/_2EToDfjMVMJW


241. Prove that 

Watch Video Solution

√ = cos ecθ − cot θ
sec θ − 1

sec θ + 1

242. Prove that 

Watch Video Solution

cot θ + tan θ = sec θ cos ecθ

243. Show that: 

Watch Video Solution

+ = 2 sec2 θ
1

1 + sin θ

1

1 − sin θ

https://dl.doubtnut.com/l/_ag0nLx3q4OJc
https://dl.doubtnut.com/l/_U0vZ6mVDATmv
https://dl.doubtnut.com/l/_WMB0w1NYeEor

